‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:08 Page 1 gx ‘
=/

1/10 SCALE 4WD READY-TO-RUN ELECTRIC POWERED OFF ROAD TRAIL RC GARS

Vi -

DUTBACY

£, ENGLISH INSTRUCTIONS — PAGE 2
' .// FRANGAIS INSTRUCTIONS - PAGE 13

INSTRUCTION BOOK AND -;.;- a’.( = XX A
COMPONENT LISTING

49%y —
90000 ...

| —®— |



FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:08 Page 2 @

FTX Outback, Ranger, Tundra & Treka 1/10th
Scale 4WD Ready-To-Run Trail Vehicle

Congratulations on your purchase of the FTX ‘Outback’ electric off road car.

This 1/10th scale model has been factory assembled and all electrics installed and set up to
make it the easiest possible introduction to the sport of driving RC cars.

WARNING: Read the ENTIRE instruction manual to become familiar with the features of the
product before operating. Failure to operate the product correctly can result in damage to
the product, personal property and cause serious injury.

This is NOT a toy and must be operated with caution and common sense. Failure to operate
this product in a safe and responsible manner could result in damage, injury or damage to
other property.

This product is not intended for use by children without direct adult supervision.

It is essential to read and follow all the instructions and warnings in the manual, prior to
assembly, set-up or use, in order to operate correctly and avoid damage or serious injury.

Safety Precautions and Warnings

° You are responsible for operating this model such that it does not endanger yourself
and others, or result in damage to the product or the property of others.

° This model is controlled by a radio which is possibly subject to interference which
can cause momentary loss of control so it is advisable to always keep a safe distance
to avoid collisions or injury.

° Age Recommendation: 14 years or over. This is not a toy. This product is not intended
for use by children without direct adult supervision.

Carefully follow these directions and warnings, plus those of any

additional equipment associated with the use of this model,

chargers, ESC and motors, radio etc.

° Never operate your model with low transmitter batteries.

° Always operate your model in an open area away from cars, traffic or people.

° Never operate the model in the street or in populated areas.

° Always keep the vehicle in direct line of sight, you cannot control what you cannot see!

° Keep all chemicals, small parts and anything electrical out of the reach of children.

° Although splash-proof the car and electronics are not designed to be subjected to extended moisture exposure or submersion. To do so will result
in permanent damage.

° Avoid injury from high speed rotating parts, gears and axles etc.

° Novices should seek advice from more experienced people to operate the model correctly and meet its performance potential.

° Exercise caution when using tools and sharp instruments.

° Do not put fingers or any objects inside rotating and moving parts.

° Take care when carrying out repairs or maintenance as some parts may be sharp.

° Do NOT touch equipment such as the motor, electronic speed control and battery, immediately after using your model because they can generate
high temperatures.

° Always turn on your transmitter before you turn on the receiver in the car. Always turn off the receiver before turning your transmitter off.

° Keep the wheels of the model off the ground, and keep your hands away from the wheels when checking the operation of the radio equipment.

° Prolong motor life by preventing overheat conditions. Undue motor wear can result from frequent turns, rapid change of direction
forwards/backwards, continuous stop/starts, pushing/pulling objects, driving in deep sand and tall grass, or driving continuously up hill.

Contents:

FTX Outback Trail RTR Vehicle
Transmitter: 2.4ghz Steerwheel
Charger: Wall Charger NiMh 500mA
Battery: 1500mAh NiMh 7.2V

fa

\S




‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:08 Page 3

e

Required equipment for operation

1. Tools required for building and maintenance:

- \\

X7

P TTTTTTTTT

[T Tor MLRARARL ] v
\% @® Needle nose pliers
@ Hobby knife @ Precision ruler

:’@::/

® Wire cutters

@ Flat and Philips screwdriver

= (=3}
2. Omm g
@ CA glue&rubber cement

2. 5mm é

@® Hex wrench

@® Cross wrench

® Thread locking compound
@® Cross wrench

WARNING!

Do not use a power screw driver to install screws into nylon or plastic materials.The fast

locking may heat up the screws being installed that may break the molded parts or
strip the threads during installation.

2.Additional items needed for operation:

4 pcs AA Alkaline batteries for transmitter

IMPORTANT!

Check that all screws and nuts are tight before each use.




FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:08 Page 4

Your car is equipped with a 2.4ghz radio system that once bound with the esc will provide your with interference free use.
Please read and understand the instructions and functions before operating.

OPTIONAL CHARGE JACK THROTTLE REVERSE STEERING WHEEL

STEERING REVERSE

STEERING DUAL RATE

THROTTLE TRIGGER \ .l LED INDICATORS
POWER SWITCH THROTTLE TRIM

BATTERY CASE

STEERING TRIM

Steering Wheel: Proportionally operates the model left and right

Battery case: Requires 4 x AA batteries.

Power switch: Used to turn the radio ON/OFF

Steering Dual Rate: Allows you to change the amount of steering servo travel compared to the amount of physical steering
wheel movement.

Throttle Dual Rate: Allows you to change the amount of throttle movement compared to the amount of physical throttle trigger
movement.

Throttle/Steering Trims: Used to adjust the centre trim of the throttle/steering for straight wheels and neutral throttle.

Steering Reverse: Allows you to electronically switch the direction of the steering servo travel. For example if you move the
steering wheel to the right and the steering servo moves to the left, flip the steering reverse switch to the steering move to the
right.

Throttle Reverse: Allows you to electronically switch the direction that the motor operates in relation to the throttle trigger.

For example if you pull the trigger to accelerate forward, but the model goes in reverse, flip the throttle reverse switch to make
the model accelerate forward.

Throttle Trigger: Controls the speed and braking ability of your model. Pull back to accelerate, release to decelerate and push
ot forward for brake. Pushing it a second time activates reverse.

LED Indicators: Show battery power level. Replace batteries when the power indicator blinks or the buzzer beeps.

Charge Jack: Allows for charging of RE-CHARGABLE batteries ONLY via a separate charger.

BATTERY INSTALLATION ==

Slide the battery cover off as shown and install 4 x AA size

batteries, positioning the polarity as indicated on the
battery box.
2. Replace cover after batteries are installed.
Notes:
- Use batteries of the same type
- Remove batteries when not in use
- Always check battery power before use
Dispose of exhausted batteries properly
Only charge rechargable batteries when using charge jack




‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 5 @

RUNNING YOUR CAR

(1) TURN ON THE RECEIVER ON YOUR CAR Bl 2) TURN ON THE RADIO CONTROLLER

The ESC/receiver switch is located under the bodyshell Switch on the power switch on the
of the model. Switch on the ESC/Receiver Switch radio controller. Your car is bound
as shown in the picture. with your radio controller automatically.

(3) CHECK STEERING PERFORMANCE

e Ensure good steering performance.
CENTRE TURN LEFT TURN RIGHT

Las

1) To keep the car run straight 2) Turn it left to allow your 3) Turnitright to allow your
inline , do not move the vehicle turn to left. vehicle turn to right.
control wheel.(Keep it
at centre)

(4]

PUSHIT
FORWARD

A. Pull the trigger back to accelerate, release it to decelerate.
PLEASE NOTE: ) .
THE MODEL SWITGHES BETWEEN B. To stop running your car, release the trigger to Neutral.
FORWARD AND REVERSE INSTANTLY ) i )
FOR SLOW SPEED C. Pushing the trigger forward activates reverse.
MANEQUVABILITY.EXCESSIVE USE
OF THIS FEATURE CAN CAUSE
TRANSMISSION AND ESC DAMAGE.

/;
\>




‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 6 @

o

RUNNING YOUR CAR

o 10 (\ STEERING TRIM
N, X4 ‘ \

ST-"<- ‘
&’ LY

D/R _ TRIM

4

Gently pull the trigger to allow your car to run slowly. Meantime, tune the steering trim to allow the

front wheels to be aligned.

(6) TO TUNE THE THROTTLE TRIM
Rl N R (N
THROTTLE TRIM

Throttle trim is used to set your idle speed.

0 TO TUNE THE STEERING DUAL RATE CONTROL DIAL

Decrease‘f

Increase

STEERING D/R

This dial adjusts the overall travel of the steering servo. Push the dial forward for maximum

steering. Pull the dial back to reduce the steering level.

- Set the Steering Dual Rate Control Dial to Minimum first. To set the desired steering level
increase it again whilst decelerating your vehicle.

(8) STEERING/THROTTLE REVERSE

Steering Reverse: It allows you to electronically switch the
direction of steering servo travel. For example, if you move

the steering wheel to the right and the steering servo moves

to the left,flip the Steering Reverse Switch to make the steering
servo move to the left.

Throttle Reverse : It allows you to electronically switch the . R
direction that the motor operates in relation to the throttle trigger. R "' “\l“\\l’t “ |
For example, if you pull the throttle trigger to accelerate forward, R
butthe model goes in reverse, flip the Throttle Reverse Switch i «_

to make the model accelerate forward. 2 7 2SN




FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 7

\S

SPEED CONTROL CONNECTION DIAGRAM

-

Power Switch

BIND CONNECTION FOR BINDING WITH TX

Connect to motor
'—%

[

Connect to battery

5V DC is for
front and rear LED

CH1 light connection

K CH1 IS FOR THE STEERING SERVO

3CH
NIMH

4 I !

BIND 32,2

——
03.7 /

LIPO

OPTIONAL 3CH AVAILABLE FOR ROOF LIGHTS, WINCH ETC THAT CAN BE
CONTROLLED VIA A ALTERNATIVE 3-CHANNEL TRANSMITTER.

BINDING THE TRANSMITTER AND RECEIVER

1. After connecting the 2-in-1
Unit to the battery pack, then
plug in the bind connector
into the Bind port. The LED
on the Speed control unit
should start to flash rapidly.

2. Switch on the transmitter
then pull the ‘bind’ connector
out of the receiver.

3. The LED on the 2-in-1 unit
should become solid. This will
indicate that a solid connection
has been achieved between the
transmitter and 2-in-1 unit.
They are nhow bound together.

CHARGING/INSTALLING THE BATTERY.

Always store your model with the

battery pack unplugged and

removed. Always charge your battery away from the vehicle. The
included 500mAh mains charger will take approx 3 hours to charge a
fully discharged battery, but always remove it from the charger if it
becomes warm to the touch. Always disconnect the charger from the
mains supply and the battery pack when not in use. Keep children
away from charger and battery during the charging process.

L~
¢ S

.

\

ESC CAN BE SWITCHED FOR NIMH OR LIPO
BATTERY COMPATABILITY. BY SWITCHING THE
PLASTIC PLUG YOU CAN CHANGE THE ESC’S
BATTERY SETTING. LOOKING AT THE
DIAGRAM, IF THE PLUG IS IN THE LEFT SIDE
TWO PINS, THEN THIS IS FOR NIMH. IF
PLUGGED INTO THE RIGHT SIDE TWO PINS IT
IS SET FOR LIPO 2S ONLY WITH A VOLTAGE
CUT-OFF.

NOTES ON BATTERY USE:

Always allow the battery cool after use, before recharging.
Always inspect the battery before charging.

Any bare wires, split heat shrink or leakage is a sure sign of
abuse.

Never attempt to charge dead or damaged batteries.

Do not disassemble the battery or cut the connector wires.
If the battery connector gets hot enough to melt there is
most likely a serious problem with your model, driveline,
battery wires or speed controller. Find and correct the
problem before installing another charged battery pack.

NEVER charge the battery unattended incase of
overcharging, you need to be able to monitor the battery
during charging

Charge away from flammable objects and on a
non-flammable surface incase the battery becomes too hot.




FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 8 @

MAINTAINING YOUR CAR

After running your car, the following procedures should be performed regularly and will help to
maintain your car's performance.

e Inspect your car for any obvious damage.

e Check the gears for wear, debris or broken/slipping teeth.

® Check the wheels and tighten the wheel screws properly.

® Check for loose screws in the chassis.

® Check the wiring for frayed or damaged wires or connectors.

e Check the steering servo which will wear out over time and require replacement.

® Check all batteries.

e Keep the chassis clean and free of sand, dust and moisture.

® Remove and clean the motor if necessary. (Never attempt to re-assemble the motor, you
will damage it and void the warranty).

e Clean the car body with a soft lint-free cloth.

e Remove all batteries when notin use.

TROUBLESHOOTING

‘ 1. Check to see if transmitter and car are on.

A. The vehicle does ‘ 2. Replace batteries.

notwork at all. —‘ 3. Check if there are damaged parts.

‘ 1. Replace or charge the battery pack and/or the radio batteriesl

2. Make sure the vehicle is geared properly and the pinion
and spur gear are over tightened.

B. The vehicle runs

slow. ~—————‘ 3. Clean all bushings or ball bearings.

‘ 4. Check for stripped or dirty gears.

‘ 1. Check if the servo feels jammed, try centering it by hand.

C. The throttle works,

butnotthe steering] ‘ 2. Check the whole steering system.

‘ 1. Check if there are damaged parts.

D. It steers, but throttle

is uncontrollable. ‘ 2

. Replace or charge the battery pack and/or the radio batteriesl

‘ 1. Check gear mesh between spur gear and pinion.

E. The vehicle runs —‘ 2. Check for stripped and/or dirty gears.

noisily.

‘ 3. Clean and oil bushings or ball bearings.




‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 9

FTX OUTBACK 1/10TH SCALE 4WD ROCK CRAWLER Spare Part
Tundra Bodyshell Uncut | Treka Bodyshell Uncut | Ranger Bodyshell Uncut Transmitter Unit Bumper LED light Set Chassis Frame Rea Wheel Axle Wheel Hex. W/
w/decal w/decal w/decal 4 block Cover Bus Pins (2*10)
[(CIEH)
Lok
& &\| A4
éh ¢
2 Ve
FTX8187 Clear Lexan | FIX8188 Clear Lexan FTX8189 Clear Lexan - & -
FTX8190 Red Painted FTX8191 Red Painted FTX8192 Grey Painted FTX8178 FTX8180 FTX8163 FTX8165 FTX8166 FTX8167
F/R Gear Box ESC & Battery Caster Mounts Steering Servo Plate W Wheel . Pre-Mounted _ Servo(3Kg) Battery Pack
Holder Set (L/R) (AL.) Mounts Servo M lire Set(L/R) (Waterproof) (7.2V1500MAH)
<« 5
( wooen -
FTX8170G RANGER
eos® S FTX8172W
FTX8130 FTX8131 FTX8232 FTX8132 FTX8168G FTX8171W |FTX8169 TREKA/TUNDRA FTX8174 FTX8175
Connect Box Drive Gear Motor Gear Gear Box Motor (R¢370) Ball Stand Ball Stand® 4.0 Ball Stand® 4.0 Nylon Nuts M4
W/Main Gear(38T) (16T) 4.0
£ ;,,&e{m’u :\&z 0 %.
% o o = >4 a PO < .‘ <
4 =
w‘ 2 S =2 » <
oty S
FTX8134 FTX8135 FTX8136 FTX8142 FTX8176 FTX8200 FTX8201 FTX8202 FASTM4
Front Bumper Rear Bumper Bumper mount Chassis Main Skid Plate Nylon Nuts M3 Ball Bearings Ball Bearings Ball Bearings E-Clips 2.0
(5*%10%4) (7*11%3) (4*8%*3)
» = D
- QO. 5D
> - . %.. - (o) (- <
=
FTX8143 FIX8144 FTX8145 FTX8146 FTX8147 FASTM3 FITBB120 FIBB35 FTBB12R FTX8203
Shock Absorber Shock Stay Steering Servo Body Post Servo Linkage E-Clips 3.2 Set screw Set Screw Set Screw Countersunk
(Hard) Arm (48mm) M3*3 4P M4*3 4P M3*15 6P Screw
i M2*6 8P
%‘ )
\ y *‘ e e \\ —
B ~ 4 4 -~ @ “e & .. i (g
Pk C - a e "R 4
Fay -
J L
& -
FTX8148 FTX8154 FTX8155 FTX8156 FTX8157 FTX8204 FAST122 FAST123A FTX8205 FTX8206
Side Linkage Center Linkage Connect ; Axle Main Countersunk Countersunk Countersunk Countersunk Countersunk
(111mm) Linkage Drive ¢ Outdrive Screw Screw Screw Screw
M2*8 8P M2*12 8P M2*15 8P M3*9 8P 8P
= L T T | %%
\ HN Nl
FTX8158 FTX8159 FTX8160 FTX8161 FTX8162 FTX8207 FTX8208 FTX8209 FTX8210 FTX8211

7

7




‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 10

JJ
Spare Part
Button Head Button Head Button Head Button Head Button Head
Screw Screw Screw Screw Screw
M2*4 8P | M2*6 8P M2*12 4P M2*14 4P M2%*20 4P
=
e | Y7 /) g
g ) FIX8214 %
-
o s l
FTX8212 ‘ FTX8213 FTX8215 FTX8216 3 m
Button Head Button Head Button Head Button Head Rounded Head = =
Screw Screw Screw Screw Screw = ~ =)
M3*14 6P M3*6 8P M3*8 8P M4*8 8P M2*27 4P - =] -
I 'S . a2 m
——— » - T é = : E o =
e ' = ” = =
’ XY v ~ veé z
/ LA “\ =1 B
i “ 3
FTX8217 FTX8218 FTX8219 FTX8220 FTX8221 «
= -
Rounded Head (Gear Cover Internal Gears 3 —in - One ESC/Rx WHEEL HEX PINS m o= 8 =
Screw 2510 rl.../ . S £ 9
M2.6*11 8P ' o . 2 /B 52
\ — £ [ £
N — i3 '
e (= ) :
| g) &
) g
o ’
FTX8222 FTX8139 FTX8138 FTX8177 FTX8223 «M .\ Z\M
7/ ©
. 2 . E M=
Upgradable Optional S N \ & E S
Gear Box Steering F/R Gear Box ESC Mount Servo Plate £ 0 an & a8 /mlm
I (o =
(Shell only) (AL.) Mounts (AL.) (AL.) (AL.) W/Servo M M m N L
(AL.) E!
.- 2
— %
% g o
. [ a
Xy g
FTX8230 FTX8231 FTX8233 FTX8234 FTX8235 /M ‘\ W
Front Bumper Rear Bumper Bumper mount Skid Plate Shock Stay G Q
(AL.) (AL.) (AL.) (AL.) (AL.) P <
> [ 8
£ = %
- L =&
" — =X B
ES - m. A\ ™) F/
FTX8236 FTX8237 FTX8238 FTX8240 W m L=
-
Body Post Chassis Fra Wheel Axle w = - a
(AL.) U (AL.) \o-Se @
FTX8245 3 - A =
/ 2 ° . .
// < /F 3 %
_ A,
thr ) - = -
o =l oF a
s g N g o
FTX8241 FTX8242 |FTX8243 FTX8244 EXTRA LONG+5mm g = - = z 3
Wheel Hex FRONT UNIVERSAL | SPARE TYRE MOUNT| ROOF 24 LED BAR = I T %
DRIVESHAFT & TYRE/WHEEL m W W
FTX82 RANGER ° =
FTX8149G o
TREKA/
2 TUNDRA @
"a,a FTX8150W|
EXTRA WIDE+5mm FTX8248 t FTX8251
7,

0

1



‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 11 @

93 .
FTX8223 FTX8167

FTX8213 / FTBBI2R

FTX8212
FTX8161

FTX8130
—

FTX8223 FTX8134 FTX8165

9

FTBBI2R
FTX8161 FTX8212

__ FIBBI2R

FTX8162
FTX8130

FTBBI2R
FTX8167 ‘\

FTX8165 FTX8212

FASTI123A g)

@Rear Unit Exploded View Rear Unit Assembly

w2
s a g a
/ o 2 2
z 3 3 : 2
' =
5 = ;. —Qum = g
8, 0 8 g &
\ o 2 2
| ™ 3 >
| 5 s
\ o 8 = =
| = o =%
\ a = =
\ < ks
\ ¢}
\\ ; o = ;
3"'\\5 3 5 &
& % g B
! 2 2 =
< <
3
¢ :
(=3
- O -5 1%
A F
- -
[¢] <
- =}
|\ I i c
?v e >5¢
3 o I
: e |-& z
g\ 3 4 - 5
: = l o
Q H <
f | &
o,
<
! ! ¢
=




e

‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 12

N\
Universal Driven Dogbone Shock Absorber Tyre Set Exploded View
Exploded View Exploded View Wheel complete Assembly
FTX8169
—— % FTX8168G/FTX8171W
)
wa
GWJ
¥ 2
\ \ Shock Absorber
=7 o S el - - - - ¢
= K4 Assembly
0
'ﬂ'
4 \‘ FTX8148
FTX8163 /
DA
v Crawler Exploded View
FTX8144
FTX8131 \
Gear Box Assembly XSS \wﬂ
K e aReldT FTX8142 COMPLETE GEARBOX
On, / 7
N : \ FTX8131
, . FTX8164 @
4
FTX8156
FTX8138
FIX8221
\
FTX8136
0\ FTX8176 FASTM4
N FTX8143
FTX8208 FTX8147
FTX8209
FTX8170G/FTX8172W
@ TASTM4
Gear Box Exploded View
7

2

1



FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 13 @

Francais

FTX Outback, Ranger, Tundra et Treka
1/10éme RTR prét a rouler

Merci d’avoir choisi le FTX Qutback Trail 4x4 électrique.
Ce modeéle est monté d’usine, I’électronique est pré installée et réglée pour permettre un
démarrage et du plaisir le plus rapidement possible.

ATTENTION: lisez l'intégralité du manuel pour exploiter au mieux la voiture et éviter des
dommages mécaniques ou corporels. Ce modéle n’est pas un jouet, il doit &tre manipulé
avec précaution. Utilisé dans de mauvaises conditions, ce modeéle peut causer des
dommages.

Ce modele n’est pas fait pour étre utilisé par un enfant sans la surveillance directe d’un
adulte.

Il est essentiel de lire et de suivre les instructions et les recommandations de ce manuel
pour entretenir et faire évoluer votre modéle dans de bonnes conditions.

Mesures de sécurité:

. Vous étes responsable lors de I’évolution de ce modeéle, veillez a ne pas vous mettre
en danger, a mettre en danger le modéle ou la propriété d’autrui.

° Ce modéle radiocommandé peut étre perturbé par d’autres sources d’onde radio, ce
qui peut entrainer la perte momentanée du contrdle de la voiture.

° Age recommandé : 14 ans, ceci n’est pas un jouet, ce produit n’est pas fait pour étre
utilisé par un enfant sans surveillance.

Suivez consciencieusement les instructions suivantes :

° Ne jamais évoluer avec des batteries d’émission faibles

° Toujours évoluer dans une zone dégagée, loin de la circulation et de la foule

o Ne jamais évoluer dans une rue ou un endroit fréquenté

° Toujours garder le modéle dans son champ de vision

° Gardez hors de portée des enfants tous les composants de petite taille, électriques ou chimiques

° Tenez le modéle hors de portée de I’eau (la rouille peut causer des dommages irréversibles au modeéle)

° Faites attention aux piéces en rotations, axes, pignons etc.

° Les débutants doivent prendre conseil auprés de personnes plus expérimentées

° Faites attention lors de I'utilisation des outils

° Attention a ne pas mettre les doigts ou d’autres parties du corps en contact avec les piéces en rotation

° Faites attention lors du transport, de la maintenance ou de la réparation, certaines piéces peuvent étre coupantes.

° NE JAMAIS toucher les composants tels que le moteur, le variateur ou les batteries aprés utilisation, ces piéces peuvent étre chaudes

° Lorsque vous changez de fréquence d’émission assurez-vous que les quartz de fréquence sont bien positionnés (RX pour récepteur et TX pour
I’émetteur)

° Toujours éteindre en premier la voiture avant I’émetteur

° Vérifiez le bon fonctionnement de la voiture les roues dans le vide (en prenant les précautions nécessaires)

° Prolongez la durée de vie du moteur en le préservant de la surchauffe (la durée de vie du moteur dépend aussi de la fréquence de roulage, des
changements rapide de direction avant/arriére, des conditions de roulage difficiles poussiére/boue des utilisations abusives tirer/pousser des
objets)

Contenu:

1 FTX Outback Trail 1/10éme prét a rouler électrique
1 Emetteur a volant fréquence 2.4GHz

1 Chargeur: entré 240V sortie 500mA

1 Batterie: 7.2V 1500mAh NiMH

13



FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 14 @

Francais

[T I 4)}
[T IO s —
| = | . P-
ince
@ Cutter @ Régle

:’@::/
—f \.

@ Pince coupante

1. 5mm mﬂ
2. Omm Q

2. 5mm Q

@ Clé Allen

@ Tournevis plats et cruciformes

— = <@ ]

@ Frein filet

@ Colle a pneu

ATTENTION: L utilisation d’une visseuse électrique pour la
maintenance pourrait endommager I’emprunte des vis ou
casser des pieces du modele.

(4]

4 piles alcalines AA pour 'émetteur

IMPORTANT: Veuillez vérifier le serrage de chaque vis et écrous
avant l'utilisation du modele.

14



FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 15

Francais

CONTROLE DE LA RADIO INSTRUCTIONS D’INSTALLATION

Votre voiture est maimtenant é > la nouvelle radio 2.4GHz. S”1l vous plait lisez et comprenez

toutes les structions essous avant utilisation

PRISE DE CHARGE EN OPTION GAZ REVERSE VOLANT DIRECTION

DIRECTION REVERSE

DEBATTEMENT DIRECTION / \

GACHETTE . X \ & INDICATEUR LED
BOUTON D'ALLUMAGE TRIM DES GAZ

BOITIER DE BATTERIE

qucment

ous pou

oées
- Chargez uniqguement les batteries rechargeables en
wtilisant la prise de charge




‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 16 @

Francais

L’ensemble variateur/récepteur se situe a 1’arriére de Mettre le bouton d’allumage de la radio sur ON.
la voiture. Mettre 1’interrupteur sur ON comme Votre voiture est automatiquement appairer avec
montré sur la photo. votre Radio.

e Assure une bonne performance de pilotage.

CENTRE TOURNE a GAUCHE TOURNE a DROITE

1. Pour que la voiture aille 2. Tourner a gauche pour 3. Tourner a droite pour
droit ne pas tourner le permeltre a votre voiture permetire a volre voiture
volant. (le laisser au centre) d’aller a gauche. d’aller a droite.

POUSSER
EN AVANT

TIRER CENTRE

A. Tirer la gachette en arriére pour accélérer? La lacher pour décélérer et la
pousser pour freiner.

B. Pour arréter la voiture, lacher la gachette jusqu’au neutre.
C. Pousser la gachette vers l'avant active la marche arriére.

S'IL VOUS PLAIT NOTEZ :

LE MODELE PASSE ENTRE LA MARCHE AVANT ET ARRIERE INSTANTANEMENT POUR UNE MANCEUVRABILITE A FAIBLE VITESSE. UNE UTILISATION
EXCESSIVE DE CETTE FONCTIONNALITE PEUT ET VA ENDOMMAGER LA TRANSMISSION ET L'ESC.

16

—®—



‘ FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 17

Francais

Placer la voiture sur le stand avec les roues qui ne touchent pas le sol, puis regler le Trim de
direction pour aligner les roues avant.

('6) POUR MODIFIER LE TRIM DE GAZ

LU

B—— TRIM DE GAZ

Trim des gaz est utilisé pour régler la vitesse de ralenti

e POUR MODIFIER LA COURSE (DIR) DE LA DIRECTION

DIRECTION DIR

Ce reglage ajuste la course du servo de direction. Pousser le houton en avant pour un
maximum de directivite. Tirer en arriere pour reduire la course du servo.
Note: Toujours minimiser et augmenter ensuite pendant que votre voiture.

e REG/AGE DES REVERSES DIRECTION/GAZ

Direction Reverse: Cela permet electroniquement d’inverser le
sens derotation du servo. Par exemple si vous si vous tournez
le volant a droite.

Gaz Reverse: Gela vous permet de changer electroniquement la
direction dans laquelle le moteur opere en relation avec la
giichette des Gaz. Par exemple, si vous poussez la giichette
pour accelerer en avant, rnais le rnodel va en arriere, inverser
le Gaz Reverse permettra au model d'accelerer en avant.

N: Normal

= T4

il (N

<=
10

UlE |w
<

17



FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 18

SCHEMA POUR CONNECTER LE CONTROLEUR DE VITESSE

Q_A VOIE 1 EST POUR LE SERVO DE DIRECTION

1| [ \
INTERRUPTEUR D’ALIMENTATION 14.8 ‘ ’
!
CONNECTEZ AU
MOTEUR ———
[
= | : e
CONNECTEZ A LA BATTERIE . _
5V DC PERMET DE Voie 3 LIPO
CONNECTER LES LED NiMH
CH1 AVANT ET ARRIERE

/ CONNECTION POUR RELIER (BIND) LA TELECOMMANDE l—r:ﬂ \

)

La 3eme voie en option est disponible pour les barres de
lumiéres, treuils, etc et il peut étre controlé grace a la 3eme voie
de la télécommande

CONNECTION ENTRE LA TELECOMMANDE ET LE RECEPTEUR

\

1. Apreés avoir connecté l'unité
2 en 1 au pack d’accus,
branchez ensuite le connecteur
de Bind dans le port de Bind.
La LED sur l'unité du contréleur
de vitesse doit commencer a
flasher rapidement.

2. Allumez la télécommande
puis retirez le connecteur du
Bind hors du récepteur.

3. La LED sur 'unité 2 en 1 doit
rester allumé. Cela va vous
indiquer qu’une connexion
solide a été mise en place entre
la télécommande et I'unité 2 en
lls sont maintenant lié
ensemble.

CHARGER / INSTALLER LA BATTERIE

Stockez toujours votre modeéle avec le pack de batterie non branché
et retiré de votre modéle. Chargez toujours votre batterie loin de votre
véhicule. Le chargeur principal de 500mAh inclus va mettre environ 3
heures a charger une batterie complétement déchargée, mais
retirez-la toujours du chargeur si elle commence a chauffer au touché.

Et bien sr déconnectez
toujours le chargeur de
I'alimentation générale
et de la batterie lorsque
vous nhe vous en servez
pas. Gardez les enfants
a I’écart du chargeur

et de la batterie durant la
procédure de charge. 2

Le contréleur peut soit étre compatible avec les

batteries NIMH soit avec les batteries LIPO grace a la
prise, en I’échangeant de position pour choisir le
réglage voulu. Regardez sur le schéma, si la prise est
branchée sur les 2 pins du c6té gauche alors il est réglé
pour les batteries NIMH. Et si la prise est branchée sur
les 2 pins de droite il est réglé seulement pour les LIPO
2S avec un cut-off.

y
Z P

NOTES SUR L’UTILISATION DE LA BATTERIE:

Laissez toujours la batterie refroidir apres utilisation, avant
de la recharger.

Inspectez toujours la batterie avant de la recharger.

Tout fil dénudé, gaine thermo rétractable abimée ou fuite est
un signe certain d’abus

N’essayez jamais de charger une batterie morte ou
endommageée.

Ne désassemblez pas la batterie et ne coupez les fils

Si les connecteurs de la batterie chauffent jusqu’a fondre,
cela signifie qu’il y a un probléme sérieux avec votre
modeéle, la transmission, les cables de la batterie ou le
controéleur de vitesse. Trouvez et corrigez le probleme avant
d’installer une autre batterie chargée.

Ne chargez JAMAIS la batterie sans surveillance en cas de
surcharge, vous devez étre capable de surveiller la batterie
durant la charge.




FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 19 @

Francais

ENTRETIEN DE LA VOITURE

Aprés avoir roulé, les procédures suivantes vous permettront d’avoir un véhicule entretenu
régulierement et votre voiture gardera ses performances.

Inspecter votre véhicule pour voir les dommages évidents.

Vérifier les pignons, débris ou dents lisses ou cassées.

Vérifier si les jantes son serrées et si I'écrou est en bon état.

Vérifier s’il n’y a pas de vis desserrées sur le chassis.

Vérifier s’il n’y a pas de fils dénudés ou endommagés, vérifier aussi les connecteurs.
Veérifier le servo de direction lequel peut nécessiter un replacement avec les temps.
Vérifier toutes les batteries.

Garder le chassis propre sans sable, poussiére ou moisissures.

Démonter et nettoyer le moteur si nécessaire. (Ne jamais tenter de réassembiler le
Moteur, vous pouvez 'endommager et cela ne sera pas pris sous garantie.).
Nettoyer la carrosserie avec un chiffon doux

Enlever toutes les batteries en cas de non utilisation.

DEPANNAGE

‘ 1. Vérifier que la voiture et la radio soient allumées. ‘

- 2. Remplacer les batteries ‘
A. Le véhicule ne ‘ P

fonctionne plus EE— ‘ 3. Vérifier qu’il n’y ai pas de piéces endommagées. ‘
du tout.

‘ 1. Remplacer ou charger la batterie et/ou les batteries de la radio. ‘

2. Etre sur que les pignons de la voiture soit ajustés correctement
et que la couronne et le pignon moteur ne soient pas trop serrés.

B. Le véhicule roule
lentement 7‘ 3. Nettoyer toutes les bagues ou roulements a billes. ‘

‘ 4. \érifier si les pignons sont édentés ou sales. ‘

‘ 1. Vérifier si le servo coince, essayer de le centrer a la main. ‘

C.Lesgaz
fonctionnentmais L ‘ 2. Vérifier 'ensemble du systéme de direction. ‘
pas la direction

‘ 1. Vérifier si certaines piéces sont endommagées ‘

D. Cela tourne mais

les gaz sontincon- L ‘ 2.Remplacer ou charger la batterie et/ou les batteries de la radio ‘
trélables.

‘ 1. Vérifier 'entre-dent de la couronne et du pignon moteur. ‘

E. Le véhicule fait du —‘ 2. Vérifier si les pignons sont édentés ou sales. ‘
bruit en roulant

‘ 3. Nettoyer et huiler les bagues ou les roulements a billes. ‘

19



FTX Ouback Manual.gxp_ENG&FR 12/08/2016 14:09 Page 20 /)
\%/

SRVAINIGIEIR

FTIXis an exclusive brand of CML Distribution, Saxon House, Saxon Business Park,
Hanbury Road, Bromsgrove, Worcestershire, B60 4AD England.
E-mail: info@ftx-rc.com

20



